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file7 1.m Z#ZE1T

P nom = tf(1,[1 0])
K=1;

W2 =tf([1 0],[1.5)]);

D = ultidyn('Delta’,[1 1]);
T = feedback(P nom*K,1);

figure(1)

nyquist(P_nom*K*(1 + W2*D))
figure(2)

hold on

bodemag(T)

hold on

bodemag(1/W?2)

b=
K(s) = 1
Wa(s) = 1%

P(s)K (s)
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file7 2.m ZE1T
P nom = tf(1,[1 0])
K=1;

WI1 =tf([1],[1.5 0]);

S = inv(1+P_nom*K)

figure(3)
bodemag(S)
hold on
bodemag(1/W1)

P(s) = %
K(s)=1

1
Wl(S) — 1—58
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file7 3.m ZE{T
omega=logspace(-2,3,100);

P nom = tf(1,[1 0])
K=1;

WI =tf([1],[1.5 0)]);
W2 =tf([1 0],[1.5]);

D = ultidyn('Delta',[1 1]);

T = feedback(P_nom*K,1);

Stilde = inv(1+P_nom*K*(1 + W2*D));
S = inv(1+P_nom*K);

figure(4)
bodemag(Stilde)
hold on
bodemag(1/W1)
grid on
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1
Wl(S) — 1—58
WQ(S) — 1i5
T(s) :



[gain W1S,phase W1S]=bode(omega,W1*S);
gain W1S dB=20*logl10(gain W1S(:));

[gain W2T,phase W2T]=bode(omega,W2*T);
gain W2T dB=20*logl0(gain W2T(:));

WISW2T=gain W1S+gain W2T;
gain WISW2T dB=20*loglO(WI1SW2T(:));

figure(5)

semilogx(omega,gain W1S dB(:,1),'b");
hold on

semilogx(omega,gain W2T dB(:,1),'");
hold on

semilogx(omega,gain WISW2T dB.,'m');
grid on
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MATLAB
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== 4 Figure 1 = -

WQ(S) gﬂiﬂ:ll IPMP  REE  ERN) BAN UMM FAIRAD) F4UEIW)  ALTH)
fle2mERIT (3 RTDS1oEES Wals) T3
K_nom = 10; \\\\\\\\ [ A= |

T_nom = 0. 0933; W —

P_nom = tf (K_nom, [T_nom 1 0]) —20 [ oz

-30 | s

...... = #

figure(1) 3 -40

bodemag (W2_1) 52_50_

hold on T

grid on 60 |

bodemag W2_2, 'r’)

hold on —70

bodemag (W2_3, 'm") 80 |

hold on 10" 10°  ms#lpes 10 10°

set(gca, fontsize', 16)

s

|

set(gca, xtick', [1e-2 1e-1 1 1el 1e2 1e3])

W2 = .  —o %Lt W2IcimEmsEE<

bodemag W2, " g’ )

hold on

14



4] Figure 1 — O x l

Jr{IUF) REE FRNM BAO Y-ILM FAIRTD)  D4YFIW)  ALTH) e

NEde 2|08 &

-10

_20 L

|
(%
o

|
I
=

542> (dB)

|
(=)
o

|
-]
o

|
co
o

ma&00ads) 10

GI

10




K51 EXRBEROR—FRE

G(s) AR R {30 FH B R
dB 1 20log|K] ‘
K 0 o 0 >
dB 1 1 900
S 0 ‘/= W
/QOdB/dec 0° -
dB 1 —20dB/d o .
1 0 \1‘ : w/ ec 0
S \ _900)
900 i |
dB % 20dB/dec
Ts+1 0 ‘
1/T 0.2/T 5/T
1 B 7 o 0.2/T 5/T
Ts+ 1 0 "W
—20dB/dec\ —90°
2 t A S
wn dB | w O L >
0 >

§% + 2Cwns + w2

16



FTE J4—F/\YOFIEHZOO/NZAMEREHT

7.1 AAfEMSEONANE
72 ONAMEEYS
7.3 FEERED ONRME

F—J—FK . FHEMT,

P HIE - MATLABZHULNT, 1

M2 E I,

INANERE

INANRTE M

=T IILDAFEMNS, O/

INRMEREEHER T 52N TES,

17



